
MOTORIZED   3X6/3X8/4X8m



Plastic

hammer



Item

Carton

1/12

3B-01

Qty

2

3B-11 2

Carton

2/12

Item

Qty

Item

Qty

3B-27 1

Carton

3/12

Carton

5/12

3B-14 2 3B-15 2
3B-18 1

3B-19

3B-20 108

3B-24 1 3B-26 2

3B-13 3

3B-21 3B-22 18

3B-23 50
3B-30 2

3B-02 1

26

3B-31 2 3B-32 3B-33

3B-02-2
1

3B-03 1
3B-03-2

1

3B-04 2

3B-05 2

3B-05-1 2

3B-08A 1

3B-08B 1 3B-08C 1

3B-08D 1

3B-09 4

3B-35 2

3B-36 4

3B-05-2 2

Carton

6/12

Carton

7/12

Carton

8/12

3B-45 4 3B-46 4

4*8-1

Carton

9/12

Carton

4/12

3B-06 6

3B-06 6

Item

Qty

3B-40 2 3B-41 2 3B-42 8 3B-43 8

3B-48 54 3B-49 52 3B-50 2 3B-51 432

3B-52 2 3B-52B 1

3B-53 4

3B-06 6

3B-06 6

Carton

10/12

3B-39

12

1 1

24

3B-12 4

3B-06 6

3B-06 6

3B-06 6

3B-06 6

3B-06 6

Carton

11/12

Carton

12/12

3B-29 4



Item

3B-01

Drawings

2

Qty

1

1

3B-02

3B-03

1

3B-02-2

3B-03-2

3B-04

2

3B-05

3B-06

54

1

2

2
3B-05-1

2

4*8-2

+

+

+

3B-05-2



Item

3B-08A

Drawings

1

Qty

4

3B-08B

3B-09

13B-27

3B-08C

3B-08D

1

1

1

4*8-3

1

0

9

6

0

1

1

4

1

7

4

3B-29



Item

Qty

23B-11

Drawings

3B-13 3

3B-18

3B-20

1

3B-19

3B-21 12

108+2

26+2

Item

Qty

Drawings

3B-24 1

M8*20

3B-26
2

3B-32

3B-33

1

1

3B-14 2

3B-15 2

18

50+2

3B-22

3B-23

OPEN

STOP

CLOSE

3B-30
2

3B-31
2

3B-35
2

3B-36
4

+
+

M8*20锁紧螺母

M10*80

43B-45

43B-46

M8*12

4*8-4

3B-52
2

3B-53
4

M4.2*25

3B-43
8

54

432+4

52

2

3B-50

3B-51

3B-48

3B-49

M4.2*25

3B-40
2

3B-41
2

3B-52B
1

M10*20

3B-42 8

24

3B-39

M8*60

3B-12
4



3934

3934

7
7

6
8

3
7

0
4

3
7

0
4

7

7

6

8

3

9

3

4

4*8-5



Item

Carton

1/10

3B-01

Qty

2

3B-11 2

Carton

2/10

Item

Qty

Item

Qty

3B-27 1

Carton

3/10

Carton

5/10

3B-14 2 3B-15 2
3B-18 1

3B-19

3B-20 108

3B-24 1 3B-26 2

3B-13 3

3B-21 3B-22 18

3B-23 50
3B-30 2

3B-02 1

26

3B-31 2 3B-32 3B-33

3B-02-2
1

3B-03 1
3B-03-2

1

3B-04 2

3B-05 2

3B-05-1 2

3B-08A 1

3B-08B 1 3B-08C 1

3B-08D 1

3B-09 4

3B-06

3B-35 2

3B-36 8

3B-05-2 2

3B-38

Carton

6/10

Carton

7/10

Carton

8/10

3B-45 4 3B-46 4

3*8-1

Carton

9/10

3B-06

3B-06

3B-06

3B-06

Carton

4/10

3B-06

3B-06 8

Item

Qty

3B-40 2 3B-41 2 3B-42 8 3B-43 8

3B-48 54 3B-49 52 3B-50 2 3B-51 432

3B-52 2 3B-52B 1

3B-53 4

Carton

10/10

12

1 1

24

3B-12 4

8

8

8

8

8

6

3B-29 4



Item

3B-01

Drawings

2

Qty

1

1

3B-02

3B-03

1

3B-02-2

3B-03-2

3B-04

2

3B-05

3B-06

54

1

2

2
3B-05-1

2
3B-05-2

3*8-2

+

+

+



Item

3B-08A

Drawings

1

Qty

4

3B-08B

3B-09

13B-27

3B-08C

3B-08D

1

1

1

3*8-3

1

0

9

6

0

1

1

4

1

7

4

3B-29



Item

Qty

23B-11

Drawings

3B-13 3

3B-18

3B-20

1

3B-19

3B-21 12

108+2

26+2

Item

Qty

Drawings

3B-24 1

M8*20

3B-26
2

3B-32

3B-33

1

1

3B-14 2

3B-15 2

18

50+2

3B-22

3B-23

OPEN

STOP

CLOSE

3B-30
2

3B-31
2

3B-35
2

3B-36
4

+
+

M8*20锁紧螺母

M10*80

43B-45

43B-46

M8*12

3*8-4

3B-52
2

3B-53
4

M4.2*25

3B-43
8

54

432+4

52

2

3B-50

3B-51

3B-48

3B-49

M4.2*25

3B-40
2

3B-41
2

3B-52B
1

M10*20

3B-42 8

24

3B-39

M8*60

3B-12
4



2894

2894

7
7

6
8

3
7

0
4

3
7

0
4

7

7

6

8

2

8

9

4

3*8-5



Item

Carton

1/8

3B-01

Qty

2

3B-11 2

Carton

2/8

Item

Qty

Item

Qty

3B-27 1

Carton

3/8

Carton

5/8

3B-14 2 3B-15 2
3B-18 1

3B-19

3B-20 78

3B-24 1 3B-26 2

3B-13 3

3B-21 3B-22 18

3B-23 44
3B-30 2

3B-02 1

26

3B-31 2 3B-32 3B-33

3B-02-2
1

3B-03 1
3B-03-2

1

3B-04 2

3B-05 2

3B-05-1 2

3B-08A 1

3B-08B 1 3B-08C 1

3B-08D 1

3B-09 4

3B-06

3B-35 2

3B-36 8

3B-05-2 2

3B-38

Carton

6/8

Carton

7/8

3B-45 4 3B-46 4

3*6-1

3B-06

Carton

4/8

3B-06

3B-06 8

Item

Qty

3B-40 2 3B-41 2 3B-42 8 3B-43 8

3B-48 39 3B-49 37 3B-50 2 3B-51 312

3B-52 2 3B-52B 1

3B-53 4

12

1 1

24

3B-12 4

8

8

8

Carton

9/9

3B-06 7

3B-29 4



Item

3B-01

Drawings

2

Qty

1

1

3B-02

3B-03

1

3B-02-2

3B-03-2

3B-04

2

3B-05

3B-06

39

1

2

2
3B-05-1

2
3B-05-2

3*6-2

+

+

+



Item

3B-08A

Drawings

1

Qty

4

3B-08B

3B-09

13B-27

3B-08C

3B-08D

1

1

1

3*6-3

1

0

9

6

0

1

1

4

1

7

4

3B-29



Item

Qty

23B-11

Drawings

3B-13 3

3B-18

3B-20

1

3B-19

3B-21 12

78+2

26+2

Item

Qty

Drawings

3B-24 1

M8*20

3B-26
2

3B-32

3B-33

1

1

3B-14 2

3B-15 2

18

44+2

3B-22

3B-23

OPEN

STOP

CLOSE

3B-30
2

3B-31
2

3B-35
2

3B-36
4

+
+

M8*20锁紧螺母

M10*80

43B-45

43B-46

M8*12

3*6-4

3B-52
2

3B-53
4

M4.2*25

3B-43
8

39

312+4

37

2

3B-50

3B-51

3B-48

3B-49

M4.2*25

3B-40
2

3B-41
2

3B-52B
1

M10*20

3B-42 8

24

3B-39

M8*60

3B-12
4



2894

2894

5
6

8
8

2
6

6
4

2
6

6
4

5

6

8

8

2

8

9

4

3*6-5



a
3B-01

3B-13

3B-22

3B-01

3B-13

3B-22

b

x3

3B-01

3B-13

3B-22

2

3

18

3B-27
1

1



2

3B-52

3B-39

3B-53

Note: Before

installation, make sure

the wall must be flat.

3B-53
4

3B-52
2

3B-39
16

b

a

3B-52

3B-52B
1

3B-52

3B-52B

3B-52

h:2506.4MM



3

3B-36

3B-02/

02-2

2

3B-36
4

c

3B-02

3B-02-2

3B-43
8

M4.2*25

3B-43

b

3B-36

3B-02

3B-02

a



4

3B-04
2

3B-01
2

b

1B-04

1B-18

1B-04

a



5

3B-27

3B-04
2

3B-39
8

M10*20

3B-40

3B-41

3B-42

2

2

8

a

b

d

3B-40

3B-41

c

3B-04

3B-42

3B-39



3B-03

3B-03-2

3B-02

3B-02-2

1

3B-18

13B-03-2

13B-03

3B-33
1

3B-32
1

c

3B-18

3B-03

3B-03-2

a

b

3B-45

3B-46

43B-45

43B-46

6



7

3B-21

a

3B-21
12

1B-21

b



8

2

18

3B-11

3B-19

2
3B-26

3B-11

3B-19

3B-11

3B-19

a

b

23B-35

3B-35

3B-26

3B-11

3B-19

c



3B-05-2

3B-29

3B-05-2

3B-29

3B-29
4

4

3B-05-1/

-2

a

b



9

3B-23

3B-05
2

X

2

3B-05-2

3B-05-1

3B-05-1

3B-05

3B-05-2

3B-05-2

3B-05-1

2

3B-05-2

3B-23

b

3B-05-2

3B-23

a

5

6

5

6

Warning:

Before installation, tear off the

 protective film of the tape on

 the back side of Gutter.

 6screws/5m side

 8screws/6m side

 4screws/3m side

 5screws/4m side

 10screws/8m side



10

3B-24

a

b

3B-12

3B-24

3B-12
2

3B-24
1



11

x

3B-48

X

X

3B-06

X*4

3B-51

a

3B-51

b

3B-06
3B-48



12

x2

x

3B-49

3B-50

X

X

2

3B-51

c

d

3B-51

3B-50

a

b

3B-49

3B-06

3B-51



13

3B-08C

3B-08D

3B-08C

a

b

1

13B-08C

3B-08D

3B-08C



14

3B-50

3B-03-2

a

3B-50

b

3B-06
2

c



15

3B-20

3B-09

3B-06
51

3B-20

53

3B-09
2

a

b

3B-063B-063B-063B-06

c



16

3B-08B

a

3B-20

3B-09

3B-08B

3B-08A

3B-20 53

3B-09
2

1

13B-08B

3B-08A

b

3B-23

c

3B-23
20

3B-23

20 screws: 5 screws / strip



3B-24

b

3B-24

3B-24
1

17



3B-14
2

6
3B-19

3B-15
2

18

a

3B-14

3B-15

3B-19

3B-15

b

Warning

In Snow  / Wind season or in case of

 snow / wind forecast open up your shutters

 in vertical position to avoid any damaging

on your pergola.

+
+



19

OPEN

STOP

CLOSE

3B-31
2

2
3B-30

Motor wires diagram

Wires Diagram

Motor wires diagram

Wires Diagram

OPEN

STOP

CLOSE

3B-30

3B-31



Motor controller

 Power in：220V

Power Out To

Motor： DC24V

Warning:

Need to drill hole and put

wires by yourself.

Warning:

Need to drill hole and put

wires by yourself.

Motor

20


	3号靠墙电动3X6-8-4X6-8米2023.10.3101
	3号靠墙电动3X6-8-4X6-8米2023.10.3102
	3号靠墙电动3X6-8-4X6-8米2023.10.3103
	3号靠墙电动3X6-8-4X6-8米2023.10.3104
	3号靠墙电动3X6-8-4X6-8米2023.10.3105
	3号靠墙电动3X6-8-4X6-8米2023.10.3106
	3号靠墙电动3X6-8-4X6-8米2023.10.3107
	3号靠墙电动3X6-8-4X6-8米2023.10.3108
	3号靠墙电动3X6-8-4X6-8米2023.10.3109
	3号靠墙电动3X6-8-4X6-8米2023.10.3110
	3号靠墙电动3X6-8-4X6-8米2023.10.3111
	3号靠墙电动3X6-8-4X6-8米2023.10.3112
	3号靠墙电动3X6-8-4X6-8米2023.10.3113
	3号靠墙电动3X6-8-4X6-8米2023.10.3114
	3号靠墙电动3X6-8-4X6-8米2023.10.3115
	3号靠墙电动3X6-8-4X6-8米2023.10.3116
	3号靠墙电动3X6-8-4X6-8米2023.10.3117
	3号靠墙电动3X6-8-4X6-8米2023.10.3118
	3号靠墙电动3X6-8-4X6-8米2023.10.3119
	3号靠墙电动3X6-8-4X6-8米2023.10.3120
	3号靠墙电动3X6-8-4X6-8米2023.10.3121
	3号靠墙电动3X6-8-4X6-8米2023.10.3122
	3号靠墙电动3X6-8-4X6-8米2023.10.3123
	3号靠墙电动3X6-8-4X6-8米2023.10.3124
	3号靠墙电动3X6-8-4X6-8米2023.10.3125
	3号靠墙电动3X6-8-4X6-8米2023.10.3126
	3号靠墙电动3X6-8-4X6-8米2023.10.3127
	3号靠墙电动3X6-8-4X6-8米2023.10.3128
	3号靠墙电动3X6-8-4X6-8米2023.10.3129
	3号靠墙电动3X6-8-4X6-8米2023.10.3130
	3号靠墙电动3X6-8-4X6-8米2023.10.3131
	3号靠墙电动3X6-8-4X6-8米2023.10.3132
	3号靠墙电动3X6-8-4X6-8米2023.10.3133
	3号靠墙电动3X6-8-4X6-8米2023.10.3134
	3号靠墙电动3X6-8-4X6-8米2023.10.3135
	3号靠墙电动3X6-8-4X6-8米2023.10.3136
	3号靠墙电动3X6-8-4X6-8米2023.10.3137
	3号靠墙电动3X6-8-4X6-8米2023.10.3138

